202349 118 01L £ E

X
Al

2
=]

Fl
ro
>
<2
1ot
10

X TH= Chl M X 7| = AHH| Chel: M3
Te= 74 1:1 4:1 715ALELY | O HHA |ofo|HX HHA
SEH| 100 1214 A 1,250 1,250
ALt2EF ALl - OfZR|EZX|, OFZH ¢ &2 1214 B 1,150 1,150
*EE e} 2nOt2EH ALY 1,000 4 4 1204 ¢ 1,000
ax 22 EL QIRIA|E ESL 1,100 5 2 20014 A 900 900
ATt2E}ESL 7 1,300 7 2014 B 850
e AnA 950 4 4 3014 770
QIRIA|E ESL 1,050 5 4214 750 670
2}0| E ESL 4 850 4 6214 650
j;"‘% It ESL 5 1,000 5
= o}t ESL 7 1,250 7 X B S8 F7LHE
HEX} 7153 A 750 3 2F 3F
FL o 71532 1,500 5 2 43 * 65% 43 * 85%
EQ/EA 1,000 4 4
N PRE O}O|& = 1,070 4 4
oo |_OTOIRE 00| 4 | 3 x &7| A% gol crol: 3
M A ofo|ex wBXF 8F 3,050 5 2 165 205 245
ofo|¥eX HE 12F 4,300 5 2 100 150 200
* Q| ESL 5, 73} ATH2E} ESL 72 2 IH2 HE 75 (MEEY)
*EQ/EAL 20231 12204URE HQISHT AN 4= * RS AL XHAOAH 1M =Y S THs
* PRE OO X = 122 0420| 2 ASIXt SET}
X #X| | B X HIXtAFEH| |
SSP (24| X 6,800 oAb kb4 H=7|2+ oy
ACR I-CARD 3,500 1K A% 5%F~8F 0|3t 3,940
B35 3,000 2 A% 125 0|5} 9,150
HI/+E(4FD) 2,000 3% A% 163 0|5t 12,390
ofo|C| 7t= 200 4Xt A 20 0|5} 15,630
ME+Z= 150 5K A% 24 o5} 18,870
ME or HZE 100
=4+ 300H| (23 T) "Ant2E IPHES 2B
Y Mu|A M THY 7= ordef3,000 H2), 3 (2,500 L)
x| 1,100(52 0]3}) / 1,500(6H O|4}) / 1,800(0t0| ¥ X)
1:1 =UF7L 6,500 H|4& / 7,500H| & (EH|AE 2&), AE4+Y 3,500H &
F7h 4t Y RS X} ) Ctol4 1,500 7 14}, 1214 2,500 / 18}
BT MH|A 8,000H2, ZxY, ZTASH 0| U HAER(FS)
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X TY=8 CH e X 7|=H el M
= 74 1:1 4: 1214 Ocean 1,500
SEH| 100 1204 1,300
2}0| E ESL 920 4 29214 Ocean 1,100
QIGIA|E ESL 1,050 5 2 2914 870
Ite] ESL 5 1,000 5 3214 Ocean 820
It ESL 7 1,250 7
AHto|H ESL (XICH 8F) 1,150 4 2 X CH7| S8 FI7HHE
H|X| LA 1,250 5 2 2F 3F
E9 1,120 5 2 4F * 40% 43 * 65% 45 * 85%
ofo|#x 1,200 5 2 X &7 &} cro- M 9l
FLUo 7153~ 1,600 5 2 205 243
HSX 3A 800 3 150 200
* B XL AL 1A ZHHO|A S THs
* A HIO|®E ESL2 M E'Hat ME|[F0] 13], AE[H[E| 13| H| &=
* DQJESL 5,72 21tF HAMSAHER)
X H|X} H%EH| S
X §X| H|E HA AE X H &7 712t 7t4
SSP(SHdH| X} 6,800 1X} A% 53&~8F 0|5} 4,140
ACR I-CARD 3,500 2% A 123 0|5t 9,550
* k9| ESL 5, 71} ALt2E} ESL 150 3K AF 163 0|3} 12,990
ME or 1= 100 4X} A% 20 0|5} 16,430
Z2[H(1FS) 500 S5k A% 245 0|3} 19,870
Sending Fee 1,000
Sl B =Y 1,200 HE 7 =Y 1,500
opo|c| 7tE 300 (KH'&& 100)
Mo/ = 2EF0M 0|E7| SH|
4 =4 3002F )
mIyH| 1,100(5# 0|3t / 1,500(6H 0| %) / 1,800(IELTS)
11 =% 7} 6,500 H|4& / 7,500H| & (H|AE RE, HEL|AIA) DESY 3,500H 2

3214 1,500 /7 14}, 2914 2,000/14
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